EARAZROREIERT — 2 N—XBISY —F 202156888 () 6MEI4£:R2H

IVER £ ROD LEBHE B14% 4% —K (xwlw | lmEmml - |5 ) w8
[A&4£] 1 7% :560,000  ~ 23#&:179,000  ~ 3 3#&:89,000  ~ 43#&:67,000™ . 5 3&:56,000 @
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
— KLHEE :35. -3-3- . - £HE—8 (&R
(155 F750a—0 # 10 =a 1(3_5)1 3-3-3-2 | 37.0 1 :?36) FR
LY ISITLIFL N BH 5L —% =iE &
8 & SUEE :35. -2-1- . — SARED (£IR
N . BPEEI H 6 na 1(335)8 2-2-1-1 | 38.0 2 ;1_7; T
RiAL a9 R—F— B:/—bLTETa BETT— L
N . EFREA : ~5-4- - hnEEFNE (£R)
N - REA % 48 o 1(.13/52.>9 5-5-4-4 | 37.6 4 (4_940) i (
L7 RIA¥L—> BFLTIXI-0 FyrEF T —L
a1 | 2T v by T i 5 ?;EOEE& 1:(356).9 1-1-1-3 | 39.2| — 3 542 §$§ (£R)
LB Hh—7 BANRIHILTA © BHEAS
S, o4 | RIERD 1:37.0 6-6-6-5 |38.1| — 6 459 | BEHE— (£R)
3 > PIREEA * ~54.0 (172) we) | ) TU— ke
LN—HINK BHA4T T XTI — EOHS
~ BAA— .38, 44 . — nigEfE (£R)
N | NEEEEZER SRR [ B | | =Mk
R:F4—FTA427 b B:aZN—HI BROUE D5
® 1 —F—@EBIERL
1T=7r= 1,3,5,4,6,2
2a=5F= 1,3,5,4,6,2
== (1,3).,5,(4,6),2
43—+ — 3,5,1,6,2,4
[ /N
B 5 1204 714K 3-5 120H B E 3-5 200 JEE 3-5-6 420M
B B 5 100M4 5-6 170M B H 553 260M 3B 5-3-6 860M
3 140 3-6 330M

ARICOVWTRDTEEERROODE. TR LIV,




